PARTS LIST

ITEM[QTY| PARTNO. PART DESCRIPTION LENGTH | UNITWT. | NETWT.

11 X-SP503 SOLID BRIDGE STRAIGHT SPLICE 3.55 3.55

2 [ 14 G38114 3/8" x 1-1/4" HDG HEX BOLT GR5 0.06 0.88

3 | 14 | essNuT 3/8" HDG HEAVY 2H HEX NUT 0.03 0.47

4 | 14 G38LW 3/8" HDG LOCKWASHER 0.01 0.09

5 | 14 G38FW 3/8" HDG USS FLATWASHER 0.01 0.16

TOTALWT.#| 5.5

TOLERANCE NOTES DESCRIPTION o ¥
TOLERANCES ON DIMENSIONS, UNLESS OTHERWISE NOTED ARE: STRAIGHT & g.rE l Engineering  Atlanta, GA
SAWED, SHEARED AND GAS CUT EDGES (# 0.030%) HINGED Ro Support Team:  Los Angeles, GA
DRILLED AND GAS CUT HOLES (£0.030") - NO CONING OF HOLES SPLICE , 1-888-753-7446  Plymou .
LASER CUT EDGES AND HOLES (# 0.010) - NO CONING OF HOLES A valmont Y CONMNY Dallas, TX
BENDS ARE # 1/2 DEGREE
ALL OTHER MACHINING (£ 0.030") CPD NO. DRAWN BY ENG. APPROVAL PART NO. N
ALL OTHER ASSEMBLY (# 0.060") CEK  11/2/2011 SP503 oz
PROPRIETARY NOTE: CLASS| SUB | DRAWING USAGE CHECKED BY DWG. NO. m %
THI IN THIS DRAWING VALMONT -
NDUSTRIES AND CONSIDERED A TRADE SECRET. oF CUSTOMER KAC  4/23/2012 SP503




